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a) the rule E e

) as a cosine function,
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ii) as a sine function.
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Text Book 2, Fage 120

The eye of a sewing needle is the hole through which thread is pulled. The rule
H = 10cos10mx + 5 allows you to calculate the height H (in mm) of the eye of a sewing
machine needle as a function of time x (in s). The eye of the needle goes through the

fabric when H = 0 mm. During the first 10 seconds, how many times does the eye of the
. N s -
needle go through the fabric?
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THE FERRIS WHEEL

The seats on a Ferris wheel are positioned 20 m from its centre. The bottom of the wheel is located 2 m
above the ground. Radvas  <l= 4Om

The wheel turns at a constant speed. It completes one rotation
in 16 minutes. \ ’ —— Seats
You get on the ride by taking a seat when it is located at the 'l

I

bottom of the wheel.
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Karen took a seat on the Ferris wheel; it continued to rotate 20m
and then it stopped exactly 10 minutes after she sat down.

How far above the ground was Karen's seat when the Ferris 22
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